BID OPENING DATE: BID OPENING LOCATION:

TABULATION BY:

TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE KRESSTON SECTION 4

MONTGOMERY-GRIMES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 146D MONTGOMERY COUNTY, TEXAS

MARCH 15, 2024 LJA ENGINEERING, INC.

T. JOSEPH MARCH 15, 2024 3096-0104 (9.2)

TOTAL AMOUNT BID

BIDDER'S NAME

 1) KENNETH LAMB CONSTRUCTION CO.,LTD.
 \$1,123,528.00

 2) MTEX CONSTRUCTION, LLC
 \$1,149,504.90

 3) BLAZEY CONSTRUCTION SERVICES, LLC
 \$1,243,764.10

 4) PRINCIPAL SERVICES, LTD
 \$1,272,211.70

 5) TEXASITE, LLC
 \$1,289,971.00

 6) R CONSTRUCTION CIVIL, LLC
 \$1,297,158.70

CALENDAR DAYS 40/55

I, Micah Kreikemeier, PE, hereby certify these bid tabulations to be true and correct.



BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE KRESSTON SECTION 4
MONTGOMERY-GRIMES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 146D
MONTGOMERY COUNTY, TEXAS
MARCH 15, 2024
LJA ENGINEERING, INC.

2) MTEX CONSTRUCTION, LLC

3) BLAZEY CONSTRUCTION SERVICES, LLC

T. JOSEPH MARCH 15, 2024 3096-0104 (9.2)

1) KENNETH LAMB CONSTRUCTION CO.,LTD.

			') KENNETTI LAIVIB CON	STRUCTION CO.,LTD.	2) WITEX CONST	NOCTION, LLC	3) BLAZET CONSTRUC	HON SERVICES, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
DIVISION I - DRAINAGE	FACILITIES ITEMS								
	EWER PIPE, ASTM C-76, CLASS III, INCLUDES BEDDING AND EPTHS, COMPLETE IN PLACE	LF	608	\$78.00	\$47,424.00	\$85.50	\$51,984.00	\$79.00	\$48,032.00
	SEWER PIPE, ASTM C-76, CLASS III, INCLUDES BEDDING AND EPTHS, COMPLETE IN PLACE	LF	590	\$99.00	\$58,410.00	\$108.00	\$63,720.00	\$100.00	\$59,000.00
3 36" RCP STORM S PLACE	SEWER PIPE, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN	LF	247	\$139.00	\$34,333.00	\$146.00	\$36,062.00	\$141.00	\$34,827.00
	ED CONCRETE BOX CULVERT, ASTM C-1433, INCLUDES CKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	21	\$829.00	\$17,409.00	\$950.00	\$19,950.00	\$871.00	\$18,291.00
	CED CONCRETE BOX CULVERT, ASTM C-1433, INCLUDES CKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	119	\$1,633.00	\$194,327.00	\$1,635.00	\$194,565.00	\$1,773.00	\$210,987.00
6 TRENCH SAFETY	SYSTEM, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	LF	1585	\$2.00	\$3,170.00	\$0.50	\$792.50	\$0.30	\$475.50
GENERAL SOURCE	OLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES SE CONTROLS AND ALL ITEMS NOT SPECIFICALLY LISTED IN THE COMPLETE IN PLACE	LS	1	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$1,496.00	\$1,496.00
	ED REINFORCED CONCRETE TYPE "C" INLET, (5' MINIMUM INSIDE DES INLET PROTECTION BARRIER FOR STAGE I INLET, ALL ETE IN PLACE	EA	4	\$1,451.00	\$5,804.00	\$1,500.00	\$6,000.00	\$2,416.00	\$9,664.00
	ED REINFORCED CONCRETE TYPE "C" INLET, (5' MINIMUM , ALL DEPTHS, COMPLETE IN PLACE	EA	4	\$2,411.00	\$9,644.00	\$2,075.00	\$8,300.00	\$1,742.00	\$6,968.00
	ED REINFORCED CONCRETE TYPE "C-1" INLET, (10' MINIMUM , INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, MPLETE IN PLACE	EA	6	\$1,451.00	\$8,706.00	\$1,500.00	\$9,000.00	\$2,416.00	\$14,496.00
	ED REINFORCED CONCRETE TYPE "C-1" INLET, (10' MINIMUM , ALL DEPTHS, COMPLETE IN PLACE	EA	6	\$3,211.00	\$19,266.00	\$2,720.00	\$16,320.00	\$2,069.00	\$12,414.00
	PROTECTION NO. 1 FOR 24" RCP STORM SEWER, INCLUDES OE WALLS, 18" THICK CONCRETE RIP RAP, AND GEOTEXTILE TE IN PLACE	EA	2	\$6,101.00	\$12,202.00	\$4,175.00	\$8,350.00	\$2,845.00	\$5,690.00
	PROTECTION NO. 1 FOR 36" RCP STORM SEWER, INCLUDES OE WALLS, 18" THICK CONCRETE RIP RAP, AND GEOTEXTILE TE IN PLACE	EA	1	\$8,626.00	\$8,626.00	\$5,100.00	\$5,100.00	\$3,969.00	\$3,969.00
	NCRETE TYPE "C" MANHOLE FOR 42" STORM SEWER AND DES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	11	\$2,996.00	\$32,956.00	\$2,930.00	\$32,230.00	\$2,995.00	\$32,945.00
STRIPPING, STOO STANDARD PROC	O GRADING OF EXTREME EVENT OVERFLOW SWALE, INCLUDES KPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% KTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION COMPLETE IN PLACE	LF	654	\$6.00	\$3,924.00	\$11.00	\$7,194.00	\$6.50	\$4,251.00
BOTTOM, (ALL DE STOCKPILING STI	O GRADING OF DRAINAGE SWALE, 3:1 MINIMUM SIDE SLOPE - 1' IPTHS), INCLUDES HAULING OF SPOIL MATERIAL, STRIPPING, RIPHINGS, PLACEMENT AND COMPACTION TO 95% STANDARD TY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF MPLETE IN PLACE	LF	84	\$10.00	\$840.00	\$11.00	\$924.00	\$3.80	\$319.20
BOTTOM,(ALL DE STOCKPILINGSTF PROCTOR DENSI	O GRADING OF DRAINAGESWALE, 5:1 MINIMUM SIDE SLOPE - 3' PTHS), INCLUDES HAULING OF SPOILMATERIAL, STRIPPING, RIPPINGS, PLACEMENT AND COMPACTIONTO 95% STANDARD TY, WITHMAXIMUM 8" LIFTS, AND RE-APPLICATION COMPLETE IN PLACE	LF	206	\$10.00	\$2,060.00	\$11.00	\$2,266.00	\$3.80	\$782.80

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE KRESSTON SECTION 4
MONTGOMERY-GRIMES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 146D
MONTGOMERY COUNTY, TEXAS
MARCH 15, 2024

LJA ENGINEERING, INC. T. JOSEPH MARCH 15, 2024 3096-0104 (9.2)

	, ob No.		00	00 0104 (0.2)						
		1) KENNETH LAMB CONS			TRUCTION CO.,LTD. 2) MTEX CONSTR		RUCTION, LLC 3) BLAZEY CONSTRI		TION SERVICES, LLC	
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
18	REMOVE AND OFFSITE DISPOSAL OF STORM SEWER OUTFALL, INCLUDES SLOPE PAVEMENT, SLOPED END TREATMENT, AND ALLAPPURTENANCES, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$3,000.00	\$3,000.00	\$550.00	\$550.00	\$745.00	\$745.00	
19	REINFORCED CONCRETE STORM SEWER JUNCTION BOX FOR DUAL 12' X 7' RCB STORM SEWER WITH TWO REINFORCED CONCRETE TYPE "C" MANHOLE TOPS. CONTRACTOR TO PROVIDE ENGINEERED DRAWINGS. INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$43,301.00	\$43,301.00	\$55,100.00	\$55,100.00	\$91,912.00	\$91,912.00	
20	7" CONCRETE SEAL SLAB FOR BOX CULVERT, COMPLETE IN PLACE	LF	80	\$10.00	\$800.00	\$135.00	\$10,800.00	\$100.00	\$8,000.00	
DIVIS	SION I - DRAINAGE FACILITIES ITEMS SUBTOTAL:				\$507,202.00		\$530,707.50		\$565,264.50	
DIVIS	SION II - WATER DISTRIBUTION SYSTEM ITEMS									
1	8" PVC WATER LINE, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	1168	\$37.00	\$43,216.00	\$35.50	\$41,464.00	\$32.00	\$37,376.00	
2	6" PVC WATER LINE, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	827	\$29.00	\$23,983.00	\$27.00	\$22,329.00	\$23.00	\$19,021.00	
3	4" HDPE WATER LINE, C-906, DR 9, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	199	\$32.00	\$6,368.00	\$30.00	\$5,970.00	\$16.00	\$3,184.00	
4	TRENCH SAFETY SYSTEM, FOR WATER LINE, INCLUDES ALL LATERAL LEADS, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	LF	3334	\$2.00	\$6,668.00	\$0.10	\$333.40	\$0.30	\$1,000.20	
5	8" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	2	\$1,697.00	\$3,394.00	\$2,310.00	\$4,620.00	\$1,923.00	\$3,846.00	
6	6" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	1	\$1,152.00	\$1,152.00	\$1,700.00	\$1,700.00	\$1,320.00	\$1,320.00	
7	FIRE HYDRANT UNIT, INCLUDES APPROPRIATE TEE, FITTINGS, 6" GATE VALVE $\&$ BOX, AND LEAD PIPE, ALL DEPTHS, COMPLETE IN PLACE	EA	6	\$5,718.00	\$34,308.00	\$5,950.00	\$35,700.00	\$6,166.00	\$36,996.00	
8	WET CONNECTION OF PROPOSED 8" WATER LINE TO EXISTING WATER LINE, INCLUDES FITTINGS, ALL ADAPTERS AND CONNECTORS NECESSARY, AND REMOVAL OF EXISTING PLUG & CLAMP AND 2" BLOW-OFF VALVE & BOX, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$939.00	\$939.00	\$650.00	\$650.00	\$1,005.00	\$1,005.00	
9	SHORT SIDE DOUBLE OR SINGLE SERVICE, INCLUDES METER BOX, CURB STOP, ALL NECESSARY CONNECTORS, AND TAPS, COMPLETE IN PLACE	EA	9	\$642.00	\$5,778.00	\$800.00	\$7,200.00	\$926.00	\$8,334.00	
10	LONG SIDE DOUBLE OR SINGLE SERVICE, INCLUDES METER BOX, CURB STOP, ALL NECESSARY CONNECTORS, AND TAPS, COMPLETE IN PLACE	EA	20	\$1,561.00	\$31,220.00	\$1,385.00	\$27,700.00	\$1,117.00	\$22,340.00	
11	PLUG & CLAMP WITH 2" BLOW-OFF VALVE & BOX ASSEMBLY, ALL SIZES, COMPLETE IN PLACE	EA	2	\$1,081.00	\$2,162.00	\$935.00	\$1,870.00	\$840.00	\$1,680.00	
DIVIS	SION II - WATER DISTRIBUTION SYSTEM ITEMS SUBTOTAL:				\$159,188.00		\$149,536.40		\$136,102.20	
DIVIS	SION III - SANITARY SEWER ITEMS									
1	8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 0' – 8' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	449	\$34.00	\$15,266.00	\$42.00	\$18,858.00	\$39.00	\$17,511.00	
2	8" PVC SEWER PIPE, ASTM D-3034, SDR 26, $8'-12'$ CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	1134	\$39.00	\$44,226.00	\$43.00	\$48,762.00	\$42.00	\$47,628.00	
3	12" PVC SEWER PIPE, ASTM D-3034, SDR 26, 12' – 16' DEPTH, COMPLETE IN PLACE	LF	181	\$65.00	\$11,765.00	\$67.00	\$12,127.00	\$50.00	\$9,050.00	
4	12" PVC SEWER PIPE, ASTM D-3034, SDR 26, 16" – 20' DEPTH, COMPLETE IN PLACE	LF	991	\$70.00	\$69,370.00	\$70.00	\$69,370.00	\$89.00	\$88,199.00	

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE KRESSTON SECTION 4 MONTGOMERY-GRIMES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 146D MONTGOMERY COUNTY, TEXAS MARCH 15, 2024 LJA ENGINEERING, INC. T. JOSEPH

				1) KENNETH LAMB CO	ONSTRUCTION CO.,LTD.	2) MTEX CONST	RUCTION, LLC	3) BLAZEY CONSTRUCT	TION SERVICES, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
5 12	" PVC SEWER PIPE, ASTM D-2241, SDR 26, 8' – 12' DEPTH, COMPLETE IN PLACE	LF	277	\$59.00	\$16,343.00	\$65.00	\$18,005.00	\$62.00	\$17,174.00
	" PVC SEWER PIPE, ASTM D-2241, SDR 26, 8'-12' CUT, INCLUDES BEDDING AND ICKFILL, COMPLETE IN PLACE	LF	372	\$79.00	\$29,388.00	\$85.50	\$31,806.00	\$81.00	\$30,132.00
	" PVC SEWER PIPE, ASTM F-679, PS 115, 12' -16' CUT, INCLUDES BEDDING AND ICKFILL, COMPLETE IN PLACE	LF	122	\$100.00	\$12,200.00	\$97.00	\$11,834.00	\$99.00	\$12,078.00
	ANDARD 4' DIAMETER PRECAST SANITARY SEWER MANHOLE, 0' – 8' DEPTH, CLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	20	\$2,725.00	\$54,500.00	\$2,755.00	\$55,100.00	\$3,323.00	\$66,460.00
	(TRA DEPTH ON SANITARY SEWER MANHOLE (OVER 8' DEPTH), COMPLETE IN ACE	VF	42	\$170.00	\$7,140.00	\$176.00	\$7,392.00	\$174.00	\$7,308.00
	ANDARD 4' DIAMETER PRECAST SANITARY SEWER MANHOLE, SEALED AND NTED (0' – 8' DEPTH), INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	2	\$5,023.00	\$10,046.00	\$3,955.00	\$7,910.00	\$4,519.00	\$9,038.00
	ANDARD PRECAST SANITARY SEWER MANHOLE, SEALED (12' – 16' DEPTH), CLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	2	\$3,526.00	\$7,052.00	\$3,050.00	\$6,100.00	\$3,588.00	\$7,176.00
	ENCH SAFETY SYSTEM, FOR SANITARY SEWER, INCLUDES ALL LATERAL ADS, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	5868	\$2.00	\$11,736.00	\$1.00	\$5,868.00	\$0.30	\$1,760.40
	DEO INSPECTION OF SANITARY SEWER, ALL SIZES, INCLUDES DIGITAL COPY, IMPLETE IN PLACE	LF	1000	\$2.00	\$2,000.00	\$0.01	\$10.00	\$2.30	\$2,300.00
26	IORT SIDE DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEAD, ASTM D-3034, SDR , INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, RISER, WYE, PLUG, ARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	EA	19	\$729.00	\$13,851.00	\$1,000.00	\$19,000.00	\$1,093.00	\$20,767.00
26	ONG SIDE DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEAD, ASTM D-3034, SDR , INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, RISER, WYE, PLUG, ARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	LF	525	\$38.00	\$19,950.00	\$37.00	\$19,425.00	\$53.00	\$27,825.00
	ANDARD SANITARY SEWER DROP STRUCTURE, ALL SIZES, ALL DEPTHS, MPLETE IN PLACE	EA	4	\$1,025.00	\$4,100.00	\$800.00	\$3,200.00	\$1,178.00	\$4,712.00
	IGER FOR 4" SANITARY SEWER, (EXCLUDES CARRIER PIPE), INCLUDES BORE IS, ALL DEPTHS, COMPLETE IN PLACE	LF	65	\$74.00	\$4,810.00	\$53.00	\$3,445.00	\$76.00	\$4,940.00
	IGER FOR 15" SANITARY SEWER (EXCLUDES CARRIER PIPE), INCLUDES BORE TS, ALL DEPTHS, COMPLETE IN PLACE	LF	70	\$103.00	\$7,210.00	\$80.00	\$5,600.00	\$272.00	\$19,040.00
19 4"	PVC FORCE MAIN, AWWA C900, DR 18, 0' - 8' DEPTH, COMPLETE IN PLACE	LF	1711	\$20.00	\$34,220.00	\$19.50	\$33,364.50	\$19.00	\$32,509.00
20 4"	PVC FORCE MAIN, AWWA C900, DR 18, 8' - 12' DEPTH, COMPLETE IN PLACE	LF	135	\$20.00	\$2,700.00	\$20.50	\$2,767.50	\$21.00	\$2,835.00
21 4"	PVC FORCE MAIN, AWWA C900, DR 18, 12' - 16' DEPTH, COMPLETE IN PLACE	LF	106	\$20.00	\$2,120.00	\$22.00	\$2,332.00	\$26.00	\$2,756.00
	AIR RELEASE VALVE ASSEMBLY FOR SANITARY SEWER INCLUDES SERVICE ANHOLE, COMPLETE IN PLACE	EA	1	\$5,239.00	\$5,239.00	\$5,100.00	\$5,100.00	\$9,103.00	\$9,103.00
	INITARY SEWER FORCE MAIN PLUG & CLAMP, ALL DEPTH, COMPLETE IN ACE	EA	1	\$369.00	\$369.00	\$500.00	\$500.00	\$349.00	\$349.00
	MOVE AND OFFSITE DISPOSAL OF EXISTING 8" PLUG AND CONNECT ROPOSED 8" SANITARY SEWER, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$250.00	\$250.00	\$300.00	\$300.00	\$747.00	\$747.00

MARCH 15, 2024

3096-0104 (9.2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE KRESSTON SECTION 4 MONTGOMERY-GRIMES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 146D MONTGOMERY COUNTY, TEXAS MARCH 15, 2024 LJA ENGINEERING, INC.

T. JOSEPH MARCH 15, 2024 3096-0104 (9.2)

				,					
			1) KENNETH LAMB CON	ISTRUCTION CO.,LTD.	2) MTEX CONSTR	UCTION, LLC	3) BLAZEY CONSTRUCT	TION SERVICES, LLC
	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	25 REMOVE AND OFFSITE DISPOSAL OF EXISTING 18" PLUG AND CONNECT PROPOSED 18" SANITARY SEWER, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$400.00	\$400.00	\$1,100.00	\$1,100.00	\$1,670.00	\$1,670.00
	26 CORE INTO EXISTING SANITARY SEWER MANHOLE AND CONNECT PROPOSED 12" SANITARY SEWER LINE, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$1,801.00	\$1,801.00	\$2,000.00	\$2,000.00	\$2,899.00	\$2,899.00
	27 18" SANITARY SEWER PLUG, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$736.00	\$736.00	\$635.00	\$635.00	\$500.00	\$500.00
ı	DIVISION III - SANITARY SEWER ITEMS SUBTOTAL:				\$388,788.00		\$391,911.00		\$446,466.40
1	DIVISION IV - MISCELLANEOUS ITEMS								
	1 EXTRA REINFORCED FILTER FABRIC FENCE, COMPLETE IN PLACE	LF	100	\$1.00	\$100.00	\$1.00	\$100.00	\$2.15	\$215.00
	2 EXTRA CLEARING AND GRUBBING, COMPLETE IN PLACE	AC	1	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$8,500.00	\$8,500.00
	3 HAUL UTILITY SPOILS TO DESIGNATED ONSITE DISPOSAL SITE, USING OFF ROAD TRUCKS, INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LS	1	\$5,400.00	\$5,400.00	\$14,800.00	\$14,800.00	\$24,255.00	\$24,255.00
	4 INCREASE IN CLEARING AND GRUBBING COST TO CHIP AND HAUL OUTSIDE THIS DEVELOPMENT, COMPLETE IN PLACE	AC	1	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00
	5 EXTRA 18" THICK CONCRETE RIP RAP, PER DETAIL, INCLUDES GEOTEXTILE FABRIC, COMPLETE IN PLACE	SY	10	\$110.00	\$1,100.00	\$145.00	\$1,450.00	\$118.00	\$1,180.00
	6 EXTRA CEMENT STABILIZED SAND (2.0 SACKS PER TON), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	CY	10	\$15.00	\$150.00	\$15.00	\$150.00	\$30.00	\$300.00
	7 ADJUST MANHOLE RIM (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	EA	3	\$500.00	\$1,500.00	\$250.00	\$750.00	\$27.00	\$81.00
	8 EXTRA ORANGE CONSTRUCTION FENCE, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	100	\$1.00	\$100.00	\$1.00	\$100.00	\$4.00	\$400.00
	9 DEWATERING, ALL LINE SIZES AND DEPTHS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	1000	\$40.00	\$40,000.00	\$40.00	\$40,000.00	\$40.00	\$40,000.00
	10 WET SAND CONSTRUCTION AS PER DETAILS AND RECOMMENDED BY GEOTECHNICAL ENGINEER, ALL LINE SIZES AND DEPTH, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	1000	\$10.00	\$10,000.00	\$10.00	\$10,000.00	\$15.00	\$15,000.00
ı	DIVISION IV - MISCELLANEOUS ITEMS SUBTOTAL:				\$68,350.00		\$77,350.00		\$95,931.00
Ţ	BIDDING SUMMARY								
,	SUBTOTAL DIVISION I - DRAINAGE FACILITIES ITEMS				\$507,202.00		\$530,707.50		\$565,264.50
	SUBTOTAL DIVISION II - WATER DISTRIBUTION SYSTEM ITEMS				\$159,188.00		\$149,536.40		\$136,102.20
	SUBTOTAL DIVISION III - SANITARY SEWER ITEMS				\$388,788.00		\$391,911.00		\$446,466.40
	SUBTOTAL DIVISION IV - MISCELLANEOUS ITEMS				\$68,350.00		\$77,350.00		\$95,931.00
	TOTAL AMOUNT BASE BID				\$1,123,528.00		\$1,149,504.90		\$1,243,764.10

Page 5 of 9 FRN F-1386 LJA Engineering, Inc.

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE KRESSTON SECTION 4
MONTGOMERY-GRIMES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 146D
MONTGOMERY COUNTY, TEXAS
MARCH 15, 2024
LJA ENGINEERING, INC.
T. JOSEPH

5) TEXASITE, LLC

				4) PRINCIPAL SE	RVICES, LTD	5) IEXASI	IE, LLC	6) R CONSTRUCT	ION CIVIL, LLC
ITEM	DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
DIVIS	ION I - DRAINAGE FACILITIES ITEMS								
	24" RCP STORM SEWER PIPE, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	608	\$91.00	\$55,328.00	\$86.00	\$52,288.00	\$83.00	\$50,464.00
2	30° RCP STORM SEWER PIPE, ASTM C-76, CLASS III, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	590	\$111.00	\$65,490.00	\$111.00	\$65,490.00	\$110.00	\$64,900.00
	36° RCP STORM SEWER PIPE, ASTM C-76, CLASS III, ALL DEPTHS, COMPLETE IN PLACE	LF	247	\$155.00	\$38,285.00	\$153.00	\$37,791.00	\$147.00	\$36,309.00
4	7' X 7' REINFORCED CONCRETE BOX CULVERT, ASTM C-1433, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	21	\$930.00	\$19,530.00	\$950.00	\$19,950.00	\$840.00	\$17,640.00
	12' X 7' REINFORCED CONCRETE BOX CULVERT, ASTM C-1433, INCLUDES BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	119	\$1,867.00	\$222,173.00	\$1,900.00	\$226,100.00	\$1,770.00	\$210,630.00
6	TRENCH SAFETY SYSTEM, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	LF	1585	\$0.10	\$158.50	\$1.00	\$1,585.00	\$0.10	\$158.50
	STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INCLUDES GENERAL SOURCE CONTROLS AND ALL ITEMS NOT SPECIFICALLY LISTED IN THE BID PROPOSAL, COMPLETE IN PLACE	LS	1	\$500.00	\$500.00	\$1,700.00	\$1,700.00	\$1,100.00	\$1,100.00
	STAGE I - MODIFIED REINFORCED CONCRETE TYPE "C" INLET, (5' MINIMUM INSIDE OPENING), INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	4	\$1,400.00	\$5,600.00	\$1,825.00	\$7,300.00	\$2,000.00	\$8,000.00
9	STAGE II - MODIFIED REINFORCED CONCRETE TYPE "C" INLET, (5' MINIMUM INSIDE OPENING), ALL DEPTHS, COMPLETE IN PLACE	EA	4	\$2,090.00	\$8,360.00	\$1,825.00	\$7,300.00	\$2,400.00	\$9,600.00
	STAGE I - MODIFIED REINFORCED CONCRETE TYPE "C-1" INLET, (10' MINIMUM INSIDE OPENING), INCLUDES INLET PROTECTION BARRIER FOR STAGE I INLET, ALL DEPTHS, COMPLETE IN PLACE	EA	6	\$1,459.00	\$8,754.00	\$1,825.00	\$10,950.00	\$2,000.00	\$12,000.00
11	STAGE II - MODIFIED REINFORCED CONCRETE TYPE "C-1" INLET, (10' MINIMUM INSIDE OPENING), ALL DEPTHS, COMPLETE IN PLACE	EA	6	\$2,530.00	\$15,180.00	\$3,400.00	\$20,400.00	\$2,700.00	\$16,200.00
	OUTFALL SLOPE PROTECTION NO. 1 FOR 24" RCP STORM SEWER, INCLUDES SLOPE PAVING, TOE WALLS, 18" THICK CONCRETE RIP RAP, AND GEOTEXTILE FABRIC, COMPLETE IN PLACE	EA	2	\$2,232.00	\$4,464.00	\$4,600.00	\$9,200.00	\$8,300.00	\$16,600.00
	OUTFALL SLOPE PROTECTION NO. 1 FOR 36" RCP STORM SEWER, INCLUDES SLOPE PAVING, TOE WALLS, 18" THICK CONCRETE RIP RAP, AND GEOTEXTILE FABRIC, COMPLETE IN PLACE	EA	1	\$2,500.00	\$2,500.00	\$4,900.00	\$4,900.00	\$11,000.00	\$11,000.00
14	REINFORCED CONCRETE TYPE "C" MANHOLE FOR 42" STORM SEWER AND SMALLER, INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	11	\$2,920.00	\$32,120.00	\$3,700.00	\$40,700.00	\$2,800.00	\$30,800.00
	EXCAVATION AND GRADING OF EXTREME EVENT OVERFLOW SWALE, INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	654	\$3.00	\$1,962.00	\$5.00	\$3,270.00	\$3.00	\$1,962.00
	EXCAVATION AND GRADING OF DRAINAGE SWALE, 3:1 MINIMUM SIDE SLOPE - 1' BOTTOM, (ALL DEPTHS), INCLUDES HAULING OF SPOIL MATERIAL, STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LF	84	\$3.00	\$252.00	\$10.00	\$840.00	\$15.00	\$1,260.00
	EXCAVATION AND GRADING OF DRAINAGESWALE, 5:1 MINIMUM SIDE SLOPE - 3' BOTTOM, (ALL DEPTHS), INCLUDES HAULING OF SPOILMATERIAL, STRIPPING, STOCKPILINGSTRIPPINGS, PLACEMENT AND COMPACTIONTO 95% STANDARD PROCTOR DENSITY, WITHMAXIMUM 8" LIFTS, AND RE-APPLICATION OFSTRIPPINGS, COMPLETE IN PLACE	LF	206	\$3.00	\$618.00	\$12.00	\$2,472.00	\$6.00	\$1,236.00

MARCH 15, 2024

3096-0104 (9.2)

4) PRINCIPAL SERVICES, LTD

6) R CONSTRUCTION CIVIL, LLC

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO. CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE KRESSTON SECTION 4
MONTGOMERY-GRIMES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 146D
MONTGOMERY COUNTY, TEXAS
MARCH 15, 2024
LJA ENGINEERING, INC.

T. JOSEPH MARCH 15, 2024 3096-0104 (9.2)

	oob no.		00.	30 0104 (3.2)						
		4) PRINCIPAL S			ERVICES, LTD 5) TEX		TE, LLC	6) R CONSTRUCT	6) R CONSTRUCTION CIVIL, LLC	
ITE	M DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	
18	REMOVE AND OFFSITE DISPOSAL OF STORM SEWER OUTFALL, INCLUDES SLOPE PAVEMENT, SLOPED END TREATMENT, AND ALLAPPURTENANCES, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$500.00	\$500.00	\$2,900.00	\$2,900.00	\$4,350.00	\$4,350.00	
19	REINFORCED CONCRETE STORM SEWER JUNCTION BOX FOR DUAL 12' X 7' RCB STORM SEWER WITH TWO REINFORCED CONCRETE TYPE "C" MANHOLE TOPS. CONTRACTOR TO PROVIDE ENGINEERED DRAWINGS. INCLUDES ADJUSTMENTS, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$75,000.00	\$75,000.00	\$55,400.00	\$55,400.00	\$112,000.00	\$112,000.00	
20	7" CONCRETE SEAL SLAB FOR BOX CULVERT, COMPLETE IN PLACE	LF	80	\$300.00	\$24,000.00	\$1.00	\$80.00	\$455.00	\$36,400.00	
DIVI	SION I - DRAINAGE FACILITIES ITEMS SUBTOTAL:				\$580,774.50		\$570,616.00		\$642,609.50	
DIVI	SION II - WATER DISTRIBUTION SYSTEM ITEMS									
1	8" PVC WATER LINE, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	1168	\$35.00	\$40,880.00	\$37.00	\$43,216.00	\$37.00	\$43,216.00	
2	6" PVC WATER LINE, C-900, DR 18, CLASS 235, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	827	\$25.00	\$20,675.00	\$28.00	\$23,156.00	\$29.00	\$23,983.00	
3	6 4" HDPE WATER LINE, C-906, DR 9, INCLUDES FITTINGS, BEDDING AND BACKFILL, ALL DEPTHS, COMPLETE IN PLACE	LF	199	\$18.00	\$3,582.00	\$39.00	\$7,761.00	\$28.00	\$5,572.00	
4	TRENCH SAFETY SYSTEM, FOR WATER LINE, INCLUDES ALL LATERAL LEADS, ALL DEPTHS, ALL SIZES, COMPLETE IN PLACE	LF	3334	\$0.10	\$333.40	\$1.00	\$3,334.00	\$0.10	\$333.40	
5	8" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	2	\$2,012.00	\$4,024.00	\$2,200.00	\$4,400.00	\$2,300.00	\$4,600.00	
6	6" AWWA GATE VALVE & BOX, COMPLETE IN PLACE	EA	1	\$1,388.00	\$1,388.00	\$1,550.00	\$1,550.00	\$1,600.00	\$1,600.00	
7	FIRE HYDRANT UNIT, INCLUDES APPROPRIATE TEE, FITTINGS, 6" GATE VALVE & BOX, AND LEAD PIPE, ALL DEPTHS, COMPLETE IN PLACE	EA	6	\$6,394.00	\$38,364.00	\$7,050.00	\$42,300.00	\$7,000.00	\$42,000.00	
8	WET CONNECTION OF PROPOSED 8" WATER LINE TO EXISTING WATER LINE, INCLUDES FITTINGS, ALL ADAPTERS AND CONNECTORS NECESSARY, AND REMOVAL OF EXISTING PLUG & CLAMP AND 2" BLOW-OFF VALVE & BOX, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$624.00	\$624.00	\$550.00	\$550.00	\$425.00	\$425.00	
g	SHORT SIDE DOUBLE OR SINGLE SERVICE, INCLUDES METER BOX, CURB STOP, ALL NECESSARY CONNECTORS, AND TAPS, COMPLETE IN PLACE	EA	9	\$987.00	\$8,883.00	\$850.00	\$7,650.00	\$975.00	\$8,775.00	
10	LONG SIDE DOUBLE OR SINGLE SERVICE, INCLUDES METER BOX, CURB STOP, ALL NECESSARY CONNECTORS, AND TAPS, COMPLETE IN PLACE	EA	20	\$1,616.00	\$32,320.00	\$1,600.00	\$32,000.00	\$1,750.00	\$35,000.00	
11	PLUG & CLAMP WITH 2" BLOW-OFF VALVE & BOX ASSEMBLY, ALL SIZES, COMPLETE IN PLACE	EA	2	\$848.00	\$1,696.00	\$1,100.00	\$2,200.00	\$600.00	\$1,200.00	
DIVI	SION II - WATER DISTRIBUTION SYSTEM ITEMS SUBTOTAL:				\$152,769.40		\$168,117.00		\$166,704.40	
DIVI	SION III - SANITARY SEWER ITEMS									
1	8° PVC SEWER PIPE, ASTM D-3034, SDR 26, 0' – 8' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	449	\$55.00	\$24,695.00	\$52.00	\$23,348.00	\$37.00	\$16,613.00	
2	2 8" PVC SEWER PIPE, ASTM D-3034, SDR 26, 8' – 12' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	1134	\$56.00	\$63,504.00	\$53.00	\$60,102.00	\$38.00	\$43,092.00	
3	12" PVC SEWER PIPE, ASTM D-3034, SDR 26, 12' – 16' DEPTH, COMPLETE IN PLACE	LF	181	\$64.00	\$11,584.00	\$70.00	\$12,670.00	\$59.00	\$10,679.00	
4	12" PVC SEWER PIPE, ASTM D-3034, SDR 26, 16' – 20' DEPTH, COMPLETE IN PLACE	LF	991	\$79.00	\$78,289.00	\$72.00	\$71,352.00	\$71.00	\$70,361.00	

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

PROPOSED 8" SANITARY SEWER, ALL DEPTHS, COMPLETE IN PLACE

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE KRESSTON SECTION 4 MONTGOMERY-GRIMES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 146D MONTGOMERY COUNTY, TEXAS MARCH 15, 2024 LJA ENGINEERING, INC. T. JOSEPH

LUA	30B NO.		50	30-0104 (3.2)					
		4) PRINCIPAL SERVICES, LTD				5) TEXASI	TE, LLC	6) R CONSTRUCTION CIVIL, LLC	
ITE	M DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
	5 12" PVC SEWER PIPE, ASTM D-2241, SDR 26, 8' – 12' DEPTH, COMPLETE IN PLACE	LF	277	\$59.00	\$16,343.00	\$68.00	\$18,836.00	\$56.00	\$15,512.00
(3 15" PVC SEWER PIPE, ASTM D-2241, SDR 26, 8'-12' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	372	\$76.00	\$28,272.00	\$90.00	\$33,480.00	\$74.00	\$27,528.00
7	7 18" PVC SEWER PIPE, ASTM F-679, PS 115, 12' -16' CUT, INCLUDES BEDDING AND BACKFILL, COMPLETE IN PLACE	LF	122	\$94.00	\$11,468.00	\$98.00	\$11,956.00	\$85.00	\$10,370.00
8	3 STANDARD 4' DIAMETER PRECAST SANITARY SEWER MANHOLE, 0' – 8' DEPTH, INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	20	\$5,100.00	\$102,000.00	\$4,000.00	\$80,000.00	\$2,600.00	\$52,000.00
9	9 EXTRA DEPTH ON SANITARY SEWER MANHOLE (OVER 8' DEPTH), COMPLETE IN PLACE	VF	42	\$192.00	\$8,064.00	\$275.00	\$11,550.00	\$190.00	\$7,980.00
10) STANDARD 4' DIAMETER PRECAST SANITARY SEWER MANHOLE, SEALED AND VENTED (0' – 8' DEPTH), INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	2	\$5,200.00	\$10,400.00	\$5,900.00	\$11,800.00	\$5,700.00	\$11,400.00
1	STANDARD PRECAST SANITARY SEWER MANHOLE, SEALED (12' – 16' DEPTH), INCLUDES ADJUSTMENTS, COMPLETE IN PLACE	EA	2	\$5,100.00	\$10,200.00	\$4,050.00	\$8,100.00	\$4,100.00	\$8,200.00
12	2 TRENCH SAFETY SYSTEM, FOR SANITARY SEWER, INCLUDES ALL LATERAL LEADS, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	LF	5868	\$0.10	\$586.80	\$1.00	\$5,868.00	\$0.10	\$586.80
13	3 VIDEO INSPECTION OF SANITARY SEWER, ALL SIZES, INCLUDES DIGITAL COPY, COMPLETE IN PLACE	LF	1000	\$2.00	\$2,000.00	\$0.01	\$10.00	\$2.00	\$2,000.00
14	SHORT SIDE DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEAD, ASTM D-3034, SDR 26, INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	EA	19	\$1,107.00	\$21,033.00	\$1,350.00	\$25,650.00	\$1,400.00	\$26,600.00
15	5 LONG SIDE DOUBLE OR SINGLE 6" PVC PIPE SERVICE LEAD, ASTM D-3034, SDR 26, INCLUDES PIPE, CEMENT STABILIZED SAND BACKFILL, RISER, WYE, PLUG, MARKER, AND ANY NECESSARY FITTINGS, ALL DEPTHS, COMPLETE IN PLACE	LF	525	\$34.00	\$17,850.00	\$51.00	\$26,775.00	\$54.00	\$28,350.00
16	S STANDARD SANITARY SEWER DROP STRUCTURE, ALL SIZES, ALL DEPTHS, COMPLETE IN PLACE	EA	4	\$700.00	\$2,800.00	\$685.00	\$2,740.00	\$450.00	\$1,800.00
17	AUGER FOR 4" SANITARY SEWER, (EXCLUDES CARRIER PIPE), INCLUDES BORE PITS, ALL DEPTHS, COMPLETE IN PLACE	LF	65	\$100.00	\$6,500.00	\$100.00	\$6,500.00	\$130.00	\$8,450.00
18	3 AUGER FOR 15" SANITARY SEWER (EXCLUDES CARRIER PIPE), INCLUDES BORE PITS, ALL DEPTHS, COMPLETE IN PLACE	LF	70	\$100.00	\$7,000.00	\$165.00	\$11,550.00	\$205.00	\$14,350.00
19	9 4" PVC FORCE MAIN, AWWA C900, DR 18, 0' - 8' DEPTH, COMPLETE IN PLACE	LF	1711	\$18.00	\$30,798.00	\$27.00	\$46,197.00	\$22.00	\$37,642.00
20	0 4" PVC FORCE MAIN, AWWA C900, DR 18, 8' - 12' DEPTH, COMPLETE IN PLACE	LF	135	\$19.00	\$2,565.00	\$28.00	\$3,780.00	\$27.00	\$3,645.00
2	4" PVC FORCE MAIN, AWWA C900, DR 18, 12' - 16' DEPTH, COMPLETE IN PLACE	LF	106	\$20.00	\$2,120.00	\$29.00	\$3,074.00	\$31.00	\$3,286.00
22	2 2" AIR RELEASE VALVE ASSEMBLY FOR SANITARY SEWER INCLUDES SERVICE MANHOLE, COMPLETE IN PLACE	EA	1	\$6,222.00	\$6,222.00	\$5,500.00	\$5,500.00	\$7,000.00	\$7,000.00
23	3 SANITARY SEWER FORCE MAIN PLUG & CLAMP, ALL DEPTH, COMPLETE IN PLACE	EA	1	\$299.00	\$299.00	\$300.00	\$300.00	\$300.00	\$300.00
24	REMOVE AND OFFSITE DISPOSAL OF EXISTING 8" PLUG AND CONNECT PROPOSED 8" SANITARY SEWER ALL DEPTHS COMPLETE IN PLACE	EA	1	\$114.00	\$114.00	\$450.00	\$450.00	\$150.00	\$150.00

MARCH 15, 2024

3096-0104 (9.2)

BID OPENING DATE: BID OPENING LOCATION: TABULATION BY: TABULATION DATE: LJA JOB NO.

CONSTRUCTION OF THE WATER, SANITARY SEWER AND DRAINAGE FACILITIES TO SERVE KRESSTON SECTION 4 MONTGOMERY-GRIMES COUNTIES MUNICIPAL UTILITY DISTRICT NO. 146D MONTGOMERY COUNTY, TEXAS MARCH 15, 2024 LJA ENGINEERING, INC. T. JOSEPH

			4) PRINCIPAL SE	RVICES, LTD	5) TEXASIT	E, LLC	6) R CONSTRUCTI	ON CIVIL, LLC
ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST	UNIT COST	TOTAL COST
25 REMOVE AND OFFSITE DISPOSAL OF EXISTING 18" PLUG AND CONNECT PROPOSED 18" SANITARY SEWER, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$956.00	\$956.00	\$550.00	\$550.00	\$600.00	\$600.00
26 CORE INTO EXISTING SANITARY SEWER MANHOLE AND CONNECT PROPOSED 12" SANITARY SEWER LINE, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$550.00	\$550.00	\$1,300.00	\$1,300.00	\$1,400.00	\$1,400.00
27 18" SANITARY SEWER PLUG, ALL DEPTHS, COMPLETE IN PLACE	EA	1	\$455.00	\$455.00	\$500.00	\$500.00	\$350.00	\$350.00
DIVISION III - SANITARY SEWER ITEMS SUBTOTAL:				\$466,667.80		\$483,938.00		\$410,244.80
DIVISION IV - MISCELLANEOUS ITEMS								
1 EXTRA REINFORCED FILTER FABRIC FENCE, COMPLETE IN PLACE	LF	100	\$2.00	\$200.00	\$1.00	\$100.00	\$1.00	\$100.00
2 EXTRA CLEARING AND GRUBBING, COMPLETE IN PLACE	AC	1	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00
3 HAUL UTILITY SPOILS TO DESIGNATED ONSITE DISPOSAL SITE, USING OFF ROAD TRUCKS, INCLUDES STRIPPING, STOCKPILING STRIPPINGS, PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY, WITH MAXIMUM 8" LIFTS, AND RE-APPLICATION OF STRIPPINGS, COMPLETE IN PLACE	LS	1	\$10,000.00	\$10,000.00	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00
4 INCREASE IN CLEARING AND GRUBBING COST TO CHIP AND HAUL OUTSIDE THIS DEVELOPMENT, COMPLETE IN PLACE	AC	1	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00
5 EXTRA 18" THICK CONCRETE RIP RAP, PER DETAIL, INCLUDES GEOTEXTILE FABRIC, COMPLETE IN PLACE	SY	10	\$95.00	\$950.00	\$75.00	\$750.00	\$165.00	\$1,650.00
6 EXTRA CEMENT STABILIZED SAND (2.0 SACKS PER TON), (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	CY	10	\$15.00	\$150.00	\$15.00	\$150.00	\$15.00	\$150.00
7 ADJUST MANHOLE RIM (AS DIRECTED BY ENGINEER), COMPLETE IN PLACE	EA	3	\$200.00	\$600.00	\$400.00	\$1,200.00	\$200.00	\$600.00
8 EXTRA ORANGE CONSTRUCTION FENCE, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	100	\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00
9 DEWATERING, ALL LINE SIZES AND DEPTHS, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	1000	\$40.00	\$40,000.00	\$40.00	\$40,000.00	\$40.00	\$40,000.00
10 WET SAND CONSTRUCTION AS PER DETAILS AND RECOMMENDED BY GEOTECHNICAL ENGINEER, ALL LINE SIZES AND DEPTH, (TO BE USED ONLY AS DIRECTED BY THE ENGINEER), COMPLETE IN PLACE	LF	1000	\$10.00	\$10,000.00	\$10.00	\$10,000.00	\$10.00	\$10,000.00
DIVISION IV - MISCELLANEOUS ITEMS SUBTOTAL:				\$72,000.00		\$67,300.00		\$77,600.00
BIDDING SUMMARY								
SUBTOTAL DIVISION I - DRAINAGE FACILITIES ITEMS				\$580,774.50		\$570,616.00		\$642,609.50
SUBTOTAL DIVISION II - WATER DISTRIBUTION SYSTEM ITEMS				\$152,769.40		\$168,117.00		\$166,704.40
SUBTOTAL DIVISION III - SANITARY SEWER ITEMS				\$466,667.80		\$483,938.00		\$410,244.80
SUBTOTAL DIVISION IV - MISCELLANEOUS ITEMS				\$72,000.00		\$67,300.00		\$77,600.00
TOTAL AMOUNT BASE BID				\$1,272,211.70		\$1,289,971.00		\$1,297,158.70

MARCH 15, 2024

3096-0104 (9.2)

FRN F-1386 Page 9 of 9